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5 (20 points). For each statement, circle whether it’s true or false. Give
very brief (extremely brief is ok) justification for each answer, either next to
it or in the blue book. Each question is worth 3 points (2 points are given
for free to complete 6 x 3 = 18 to 20 points).

The matrix { (1) 8 %‘} is in reduced row-echelon form. True
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The matrix to _—_1. O} is in reduced row-echelon form. True
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Any system of two linear equations with three variables has at least one
solution. True (False
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The matrix 9 o has rank 2. True False
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Matrix [ ? llc } is invertible for infinitely many values of k. @ False
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A 3 x 5 matrix can have rank 4. True @
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